[ Efficiency vs vertpos |

= 0.5
£0.09
4
2.0.08
2
©0.07
=]

5 0.06
0.05
0.04
0.03
0.02

0.01

=
o
N

Efficiend

0

2

—— DOV CRFTESI_T000EVT

—e— DOM”mKFitREFit-test_1000evt
oM mKEREEN QRIS IOAeN ¢
—— BN REE O R SST005u

o

o
]

0.6

0.5

efficiency vs vert z

0.4

0.3

0.2

0.1

° L.Wn-' A P L)
5 f :
o d L .
| ST VD@ WITINEIVED TV G

10 20 30
TP vert z (cm)

0

[ Efficiency vs. sim PV z |

N 0.5
>

8.0.45
0.4
£0.35

Sim

> F :
§ O3
o F H H
£ 0.25 -~ [ S Areenenes peeeeees Areneeees LSRR
[} F : .
02:— ------ i------n---. -------- .- ------- LR FEEEEEEE
T S IS SETETES SITTSPRL ST SRS
O S RITITIE SEPRS SRS SR
O R S SISIEE SR
FYIN. Zovoes v o o i 5§ A 75 o
= 1.2 ' """"
o

=

0.8
0.6f

510
Sim. PV z (cm)




	Contents
	Page 1


